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QUESTION 1

The vSAN health check is showing alarms for network partitioning. All hosts in the cluster are configured with a
VMkernel port?

What are two possible causes for this alarm? (Choose two.)

A. A VMkernel port was placed on a different subnet that other hosts could NOT access.
B. A VLAN is not configured properly on a switch port.

C. BGP protocol must be enabled on the distributed switch.

D. LACP is a VSAN networking requirement.

Correct Answer: AB

QUESTION 2

Which two statements are true? (Choose two.)

A. Storage policies define VM storage requirements, such as performance and availability
B. vSAN will not automatically assign a storage policy to a VM

C. A default storage policy must be created for vSAN by the administrator

D. The default vSAN storage policy is used unless a different storage policy is selected

E. The administrator uses the ESX host console to view, create, and modify policies

Correct Answer: AD

QUESTION 3

VSAN storage policies can be created from which three of the listed vSAN rules? (Choose three.)
A. Compression/Deduplication enabled/disabled

B. Disable object checksum

C. Primary level of failures to tolerate

D. Replication enabled/disabled

E. Force provisioning

Correct Answer: BCE
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B: Checksum vSAN 6.2 includes End-to-End Software checksum to help avoid data integrity issues that may arise in the
underlying disks. By default, checksum is enabled in version 6.2 but can be explicitly disabled via a storage policy
setting. Software checksum can be disabled by completing the following procedure.

1.

From the vSphere Web Client, click Policies and Profiles and Select VM Storage Policies.

2.

Select a Virtual Machine Policy.

3.

Right click and Select "Edit Settings"

4,

From the Rule-Set 1 screen, select "Add rule”

5.

Select "Disable object checksum” from the drop down list

References:https://storagehub.vmware.com/export_to_pdf/storage-policies-and-vsan

QUESTION 4

What are IOPS?

A. The amount of network bandwidth measured in segments that is required to process iSCSI overhead.
B. The number of input and/or output operations in one second.

C. Integrated Output Performance Statistic.

D. Intermittent Operations in Primary Storage.

Correct Answer: B
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Input/output operations per second (IOPS, pronounced eye-ops) is an input/output performance measurement used to
characterize computer storage devices like hard disk drives (HDD), solid state drives (SSD), and storage area networks
(SAN).

References: https://en.wikipedia.org/wiki/lOPS

QUESTION 5

Which are two types of flash-based storage devices? (Choose two.)
A. M.2 HDD

B. NVMe SSD

C. SATA SSD

D. SAS Expander FD

Correct Answer:. AB
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